


22

26

18

21






..10

sas
209

saz7z
18,975
1s
H20
\ 109 —

13

o) — \
. /
H20
8,709
o
sas S50 S55 sS60 H2=2 H7 H12 H17
22
saz
2.14a
sSa7
2.12
18 /SN

20 0.04 14 ‘E§\g£t2§:::::§::>’/
/

1.38 12

H20
1.37

1.0
sas ss50 sS55 s6o0 H=2 H7 H12=2 H17

ao

NN

-0 _—

1s -
&5 -

17 135 40

2o R

sz2s sso s3s5 sao sas sso ss5 seo H2 H7 H1iz H17

100

20 24

17 25 29 20 24
54.6 50 | —

30 34 2 .
79 17 25 -~

S30 S35 sS40 S45 S50 S55 S60 H2 H7 H12 H17




27.9 3 25.7

3 20

30.3 40
28.3 34
(50
14
29.3

15 19
30 2.2

30

29

28

=27

26

2s

=2a

23

=22

=2

=20

=26.6
25.6
=23.3
23.8
23.4
=221
S30 sS40 S50 S60 H7 H17
18
16 /.
14 //—\
12 /
10 *
.
8 —a—
—o—
6
4
2
0 ‘
2009 )
36.0 36.0
34.0 r 1 34.0
32.0 r 1 32.0
30.0 r -1 30.0
28.0 r 1 28.0
26.0 r 1 26.0
24.0 F 41 24.0
22.0 F 1 22.0
200 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ 200
H5 H7 H9 H11 H13 H15 H17 H18 H19
25 S 35 39
$2:16 16 214 . 206
2.0 S
199 1.99 1.98 76 1.85
152
1.5 T.61 —h 147
136 128 10930 34 1.08
1.0 : 1.32 /
: 25 29 095
: 0.96
05 |
0.0 ‘ ‘ ‘ ‘ ‘ ‘
S52 S57 S62 H4 HO H14 H19




20

30

00 100 200 300 400 500 600 700 1000
&

I T

F

$

N=286
N=121

70

60 50 40 30 20 10 0 10 20 40 50 60 70
H17
12,000 11,63 60%
10,000
8,000
——
|
6,000 U
—
JE—)
4,000
- e -
2,000

H18.3

H19.3

H20.3




EEPESROAELE HEERIIERS
BEICoVT

HSB/AAOORLEE BETHEL5E
e M

BE{ED—EORTLE. #HE0FEHCER
LEEIOVT

FETUHTIAEPHSZHOSFLE,
KELRIEADEEOVT

NRBELEIRERODTEOOR S &L,
FEHEORLEREICEADEROVT

FEORLEE. BAGAREEI A2
BioonT

Tt
SF MBI >WTIEE DA L
= g )

hirsfun

()

—_—— e e T e
™ 76.1%
71.9%
62.4%
50.6%
_ 413%
. 26.8%
39.6%
33.1%
1 295% FH2IFE1ARE(SEAE)
. 22.2% (N=1,781A M.T.=277.2%)
1246%
. 21.9%
[ 0.6% \
| 0.8%
% TR 16FIFHE HIEHALE)
- 2.0% (N=2,108 A, M.T.=234.9%)
" 1.0%
U 1.7%
™ 2.1%
T 39%

FEH MK [T I 2RI iaE A (20009R2H)

# 50, #ELTwEVWEE



55

60

12

17z

17z

19.0

584 s79o
60.0 595 s8.7
53.4
50 5
51.0
50.5 50.8
30.3
27.0
25
233 22.2
14.4 19.0
1=2.a
105
10.1 s6
o
sS60 H=2 H7 H12 H17

O%

E
///J’/

(n=625)

Bt 7
(n=619) %‘%

51.7%

L

60.2%;

0

20

40

100%

#s<pd LE<ShHdMIEEAEEDBELRREE|

60% 80% 100%
| |
100%
75%
50% [
25%
0%
0 1 2 4 5
20
| |
i i 0] it i

BAEFERN-

il

BERE =)

R ek PO

Oftinen




50.8

60

40

30 40

17

80

60 54.6
50
w0 32.2
30
:2 9.8 3.3
o1 1 . . . ——
20
|
(%)
60 58 54
“ ]
24
20
20 [ 12 15
g, B s
0 ‘ ‘ ‘
19
17
e LEOREUEADIZSD I EHERUREEER 17

19 24 29 34 39 44 49 54 59 64 69 74 79 84

17 o

1 39 40 48 49 59 4

0% 25% 50% 75% 100%



TV

934

100 1
: 49
80 e 771
60
40
Y —
20 =

H19.2

0.0% 20.0% 40.0% 60.0% 80.0% 100.0%

Ba

) 100
90 — ()
()
80 —
70 81 844
60 —
50 1 1 1
H20
1
1
10
8
6
4
2
0= 0O
H16 2 [H20 2 [H16 5 |H20 5 [H16 2 [H20 2 [H16 2 [H20 2
o 13 | 09 | 18 | 15 | 54 | 44 | | a7

H20

1,000

H20



20

306
300 [
250
BN H18
200 I H19
150 C1H20
100
50
o L
| ] ——
——
45,000 400
40000 == == mm s s e e e e e e e e e s e o - - - - -1 350
35000 fo-ccsss e =l 300
................................. [
30,000 | oo
25000 - mmsm e o g G T e 1 200
20000 foc-c i e e e e R R
15000 fo= == smnacsfm s e o 1 0
10000 }--pgan- MO0y @93 - ... _.C - 100
5000 EEEA L LR EE 1 50
O 1 1 1 1 1 1 1 1 1 1 1 O
H9 HI0 H11 H12 HI3 HI14 HI5 H16 H17 H18 HI19 H20
] HL )
——H19 —8—H18
350
300 /A\
250 //\\
o AN/ AN
150 ' \-
100 » N
50 a
0 L T
















